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HLRR U L 3 EES TR

T E * TR o w % | mE E
258,961.9 264,718.5 60  1,143.3

18,229.8 98.9  18,429.2 100.0 16 168.6

14,660.5 99.2  14,769.9 100.0 11 137.4
226,071.6 97.3  231,519.4 99.7 33 837.3

St SRS
Fhm B BRI,/ 7 [ ekt R ]

An | P Al HEHE 4 N %

4,700 1,270 3,166 1,391 67.4 109.5
4,144 1,120 2,543 1,127 61.4 100.6
2,035 550 1,367 580 67.2 105.5
5,250 1,419 4,126 1,886 78.6 132.9
5,820 1,573 3,841 1,609 66.0 102.3
4,137 1,118 2,792 1,243 67.5 111.2
1,357 370 1,150 504 84.7 136.2
5,072 1,268 3,336 1,414 65.8 111.5
8,423 2,196 6,645 2,439 78.9 111.1
664 166 415 165 62.5 99.4
11,000 2,910 8,737 3,126 79.4 107.4
540 135 607 226 112.4 167.4
2,800 700 2,579 795 92.1 113.6
1,858 531 1,721 558 92.6 105.1
2,275 650 2,135 683 93.8 105.1
2,628 751 2,479 727 94.3 96.8
2,733 781 1,035 319 37.9 40.8

65,436 17,508 48,674 18,792 74.4 107.3
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2,949| S51.11.20
1,471| S51.11.20
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